FM FERMAT
FMO - Grace 7

I. Warm-up (4 points per question / No points deducted for wrong answers)

el

1. Anna has a circular paper. She folds it twice and cuts along the red line as instructed
below. How many pieces of paper will she get?
Anna cé mét to gidy hinh tron. C6 dy gép déi to gidy 2 Ian va cdt doc dwdng mau dé nhw
dwdi déy. Hdi lic nay cé bé cé bao nhiéu mdanh gidy?

A) 3 B) 5 C) 12 D) 8 E) 10

2. Solve the riddle below to find the sum A + B.
Gidi cdu d6 dwdi ddy dé tim téng A + B.

Y
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A TR P M
A) 233 B) 89 C) 123 D) 165 E) 178

3. Abby and her father turn their back against each other and go
straight for 20m. Then they both turn left and walk for 15m. How
many meters are Abby far from her father now?

Abby va bé quay lwng vao nhau réi mdi ngudi di thdng 20m. Sau d6 cd
hai nguoi cing quay sang trdi va di b6 15m. Hdi lic nay Abby cdch b6
nhau bao nhiéu mét?

A) 40m B) 50m C) 25m D) 35m E) 30m
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4. Ashley writes ten expressions on a paper. Ashley asks Tracy
to find all expressions whose value is a positive integer. At
most how many expressions can Tracy find?

Ashley viét 10 biéu thirc todn hoc I1én gidy. Ashley d6 Tracy tim
duwoc toan bé biéu thire cé gid tri la mét sé nguyén duwong. Hoi
Tracy c6 thé tim dwoc nhiéu nhét bao nhiéu biéu thirc nhw vay?

A)5 B) 6 C)7
D) 8 E)9

5. A group of 100 workers wanted to make a 7-floor building.

They built the first floor in 1 month. Then, another group of 100 ERER
workers came and they worked together. Given that their AR
productivity is the same, in total how many months do they ::::
need to complete the building?

P 8 TI1
Mot nhém gém 100 céng nhén xdy mét cdn nha 7 téng. Ho xdy tdng ERER

déu tién trong 1 thdng. Sau dé, mét nhém khdc ciing gém 100 céng 11 [ ] ll O n
nhdén dén va lam cing. Biét ndng sudt cta cdc cdng nhén la nhw nhau,
hdi ho cén téng céng bao nhiéu thdng dé xdy xong tda nha?

A) 4 B) 5 C)7 D) 8 E) 13

Il. Speed-up (6 points per question / No points deducted for wrong answers)

6. The worker uses 12 cubic blocks to build a 2-step flight of stair as the figure below. To
prevent it from getting damaged, he covers all the surfaces of the stair with square
hard tiles of side length 15cm, except for the bottom. Find the total area of the hard
tiles needed for this stair in m2.

Mot ngudi tho dung 12 khéi ldp phuong dé xdy mét cu thang cd 2 béc nhw hinh dudi déy. PE
né khéng bi héng, ngudi tho 6p nhitng vién dd hoa hinh vuéng canh 15cm lén toan b cdc mdt
cua cGu thang, ngoai trir mdt ddy. Héi dé€ lam nhw vay thi cdn bao nhiéu mét vuéng dd hoa?

b

A) 8550cm? B) 2280cm? C) 6750cm? D) 4275cm? E) 4285m?

2
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7. There are 40 students in class 7A. Some students must do a survey about the favorite

desserts of all students in the class. Their findings are listed below:

Amy: “65% of the class like ice-creams.” \ y
Ben: “Five eights of the class like chocolates.” -
Claire: “75% of the class like yogurt.” r :
Derek: “Two thirds of the class like flan.”

Erik: “60% of the class like cookies.”

Which student must have done the survey wrongly?

C6 40 hoc sinh trong I6p 7A. Mét s6 hoc sinh phdi khdo sdat vé mén trdng miéng wa thich cia
cdc ban trong Iép. Két qud duoc néu dudi déy:

Amy: “65% Idp thich dn kem.”

Ben: “Ndm phdn tdm Iop thich sé-cé-la.”

Claire: “75% Iop thich sita chua.”

Derek: “Hai phdn ba I6p thich caramen.”

Erik: “60% lop thich banh quy.”

Hdi trong cdc ban trén, ban nao chdc chdn dé lam sai trong qud trinh khdo sdt?

A) Amy B) Ben C) Claire D) Derek E) Erik

8. Six students in class 7C do a medical check. Their heights and weights are recorded in
the graph below. Among six friends, Joey is the heaviest and Lucy is the fourth lightest.
How many centimeters is Joey higher than Lucy?

Sdu hoc sinh I6p 7C tham gia budi khdm sirc khée. Chiéu cao va cdn ndng cda cdc ban dugc ghi
lgi trong biéu d6 dudi déy. Biét rdng trong 6 ban, Joey la ndng nhét va Lucy Ia nhe thi tw. Hoi
Joey cao hon Lucy bao nhiéu xdng-ti-mét?

CLASS 7C - HEIGHT AND WEIGHT

58 60
WEIGHT (KG)

A) Ocm B) 2cm C) 4cm D) 8cm E) 10cm
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9. The traffic lights at three different road crossings change after every 30 seconds, 45

seconds and 60 seconds. If they all change simultaneously at 08:20 for the first time,
then when do they change simultaneously for the fifth time?

Peén giao théng & ba ngd ré khdc nhau l6n lwot d6i mau sau méi 30 gidy, 45 gidy va 60 gidy.
Lan déu tién chung ctiing déi mau la Iic 8:20 thi lan thiy ndm ching cing déi mau I khi nao?

A) 08:23 B) 08:32 C) 08:25 D) 08:24 E) 08:35

10. Which cube below can be made from this net?
Hinh tréi phdng duwdi déy cd thé tao thanh hinh Iap phwong ndo?

®
00O
®

O
ol (@) (@ (@) (@l

A) B) C) D) E)

lll. Challenge (8 points per question / No points deducted for wrong answers)

11.Greg starts with 0 points in a riddle game. For each question, if he answers correctly,
his score is added five points. If he doesn’t answer, his score is added three points. If he
answers wrongly, his score stays the same. In the end of the game, he gets 89 points.
At least how many questions did he receive?

Greg bdt déu mot tro choi gidi d6 vdi 0 diém. Trong méi cGu hdi, néu tré Ioi ding thi anh dy
duoc 5 diém. Néu khéng trd 1 thi duoc 3 diém. Néu tra 10 sai thi sé diém gii nguyén. Khi két
thdc trd choi, anh @y cé 89 diém. Héi anh Gy dd nhdn dwoc it nhdt bao nhiéu céu hdi?

Correct -

-
No -

‘ answer +3

Wrong -+0

A) 18 B) 19 C) 20 D) 21 E) 22
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12. In the will of Mr. Chris, he divides his square piece of land into 5 parts for 5 children. The land

given to Betty, Cindy, Dolly and Emma are squares. Only Andy’s land is rectangular with
perimeter 560m. Find the perimeter of Mr. Chris’s land.

Trong di chtic ciia minh, éng Chris d& chia mdnh dat hinh vuéng thanh 5 phén cho 5 ngudi con.
Phén ddt cia Betty, Cindy, Dolly va Emma déu la hinh vuéng. Riéng phan dat cua Andy la hinh
chi? nhat va cé chu vi la 560m. Tinh chu vi mdnh dét cia é6ng Chris.

A) 1400m B) 1500m C) 1600m D) 1800m E) None of the above

13. Andy and Billy go jogging back and forth from home to the park. They both start at 06:45
from home. Andy walks at the speed 3km/h and Billy runs at the speed 6km/h. After
the start, Billy meets Andy for the second time at 07:09. How far is it from home to the
park?

Andy va Billy cit di réi vé trén doan dwong tir nha dén céng vién. Hai ban cung di tir nha lic
06:45. Andy di bo vdi téc do 3km/h va Billy chay vdi téc dé 6km/h. Tinh tir sau khi bat dau chay,
Billy gép Andy trén dudng lan the hai luc 07:09. Héi nha cdch céng vién bao xa?

) "
). g
@ O D
A) 600m B) 900m C) 1km D) 1200m E) None of the above

14.|dentical cubes are placed on top of each other to form a solid shape. The top view and
the view from one side of the shape are shown below. At most how many cubes does
the shape contain?
Cdc hinh ldp phuong duoc xép chéng 1én nhau dé tao thanh mét khéi. Hinh dudi déy I hinh
anh cta khéi dé khi dugc nhin tir trén xuéng va duwoc nhin tir mét trong bén phia xung quanh.
Ha6i khéi d6 chira nhiéu nhét bao nhiéu hinh 1ap phuong?

Top view

A) 11 B) 12 C)13 D) 14 E) None of the above
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15. Mulan fills number in a sequence of groups with spiral pattern as below. Find the sum

of all numbers in the last column of the 5™ group.
Mulan dién sé vao mot déy cdc nhém cé quy ludt xodn éc nhw dudi déy. Tinh téng tdt cd cdc
s6 ¢6 trong cét cudi ciing cda nhém thi 5.

21 22 23 24 25
20 7 8 9 10

7 8 9 19 6 1 2 11
6 1 2 18 5 4 3 12
1 5 4 3 17 16 15 14 13
Group 1 Group 2 Group 3
A) 509 B) 500 C) 505 D) 504 E) None of the above

IV. Star of hope (10 points per question/ 10 points deducted for wrong answer)
In this part, you should write your answer on the answer sheet.

16. Seven candidates: Aurora, Brenna, Clara, Donna, Erik, Freya, and Gloria, were invited
to an interview. Immediately upon arrival, they were sent to one of three interview
rooms: 1, 2 and 3. After the interview, they have the following discussion:

Brenna: “I was the third person to enter Room 1”.

Clara: “l was the last person to enter my room.”

Erik: “l was the only person in my room.”

Freya: “Three people including Aurora were already in the room when | entered.”
Gloria: “I was one among the two candidates taken to Room 2.”

List all interviewees taken to room 1.

7 trng ct? vién: Aurora, Brenna, Clara, Donna, Erik, Freya, va Gloria dwoc moi dén mét budi
phdng vén. Ngay khi dén noi, ho duoc duwa téi mét trong ba phong 1, 2 hodc 3. Sau budi phéng
vén, cdc trng cir vién dé néi nhu sau:

Brenna: “Téi la nguoi the ba vao phong 1.”

Clara: “Téi la nguwdi cudi cling vao phong.”

Erik: “Téi la nguwdi duy nhdt trong phong.”

Freya: “Khi t6i vao phong thi dd cd ba trng vién trong dé, bao gém Aurora.”
Gloria: “Téi o mét trong hai ngudi dwoc dua dén phong 2.”

Hady liét ké tdt ca cdc trng vién dwoc dwa vao phong 1.

Congratulations!
This is the end of the test. Please review the answers carefully before submission.
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